2 & B kK % M % W & F

SFATEEI A 2 H
£AH f FTEEH |FEMSIOAE[HEke)| Z2H (k)| SEFA) HiE (M) RIE (M) &% No.
R7.92 |fLCA JtimE #Y 10 @
R7.9.2 [fAL\CA &it Y = @
R7.92 [IZALA dtimiE WY 10 )
R7.92 |IzACA &it Y = @
R7.92 [Z1F>5 55 WY 10
R7.92 [ZIF>5 At Y -
R79.2 [hACA RI WY 4
R7.92 |hAlA At Y -
R7.9.2 |lF<&EW % WY 15 ®
R7.9.2 [[E<EL &5t 3y = ®
R7.9.2 |F+RvY EH Y 10 @
R79.2 [FvAY BE 3Y 10 @
R7.92 v~ &t ) = @
R7.9.2 |RyLovry A #Y —% ®
R7.9.2 |RHL2vty EH Y —R ®
R7.92 |RyLovsy &% 3y = ®
R7.9.2 |R&E(H) FriE Y —=K ®
R792 |f¥ (&) £% #Y 5 ®
R192 [h¥ &t ) = ®
R79.2 |[LAZ EF By 10 @
R7.9.2 |[LAZR XS ) = @
R7.9.2 |Ew5Y(X—3—) FoiE Y 504
R7.9.2 [Zw>5Y(H) 115 i) 5
R7.92 |E5Y(H) BE 3Y 5
R7.9.2 |Zw35Y &it Y 20
R7.9.2 |HhEbe JtimE #Y 10 9
R792 |MEFbe &t #Y = )
R7.9.2 |79 (48) I #Y 5
R7.9.2 |H#¥ (&) K, By 4
R7.9.2 |&d &% #Y =
R792 |Fvk it Y 4 @
R7.9.2 |r=h &5 By 4 0
R792 |F=k & #Y = @
R7.9.2 |E—<> H Y 0.15 ®
R792 |E—=v & #Y = ®@
R7.92 |[AAL&K FIE Y 5
R79.2 [AAL& At i) -
R79.2 [[FhiL& JLimE 3y 10 ®
R7.9.2 [[FhiLL& & #Y = ®
R7.9.2 [Z&LVE fiidGi) Y 10 ®
R7.9.2 |&&WNE =5 Y 05
R7.9.2 |&&UrE &% #Y = @
R7.9.2 [¥FEEWLE FE Y 4
R7.9.2 |[¥FEELE CH Y -
R792 |t=Fh& dtimiE Y 20 ®
R7.9.2 |f=FhE &% Y = ®
R7.9.2 |[£LLMV=I+ FRiE Y 0.1
R7.9.2 [£LUL V=1 aE Y -
R7.9.2 |[ZOELT E3i Y 0.2
R7.92 |(ZDELT =1 Y -
R7.9.2 [A7%&L&HL E3i Y 0.1
R7.9.2 |A7%LHL FRiE Y 0.1
R7.9.2 |AELHL At Y -
R7.9.2 |&t Y 2.0
R7.9.2 |#a&t Y 2.0 iR RE
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F E & B K O MM OB O#B & #
SFATEEI A 2 H

£AH f FEEH |FERSIOAE| HEW |2H (ko) | SEMAE) HiE (M) RIE (M) &% No.
R7.92 |EWL\ZA dtimiE Aaxt 15.6 10 1,728 1,620 1,512 ©)
R7.9.2 |EWZA it Aaxt 15.8 ©)
R7.92 [IZALA dtimiE Aaxt 16.9 10 2,700 1,728 1,080 )
R7.9.2 [IZALA it Aaxt 16.9 @
R7.92 [Z1F>5 55 A%t 10
R7.92 [ZIF>5 At Aaxt 0.8
R79.2 [hACA RI A%t 3.0 4 1,728 1,728 1,404
R7.92 |hAlA it Aaxt 3.0
R7.9.2 [l&<&ELY RE A%t 76 15 3,240 1,404 ®
R7.9.2 [lF<&ELy it AAxt 7.6 ®
R7.9.2 [F¥~RvY K5 A%t 10 @
R79.2 [F¥~RvY HE HExt 17.7 10 1,296 994 864 @
R7.92 |FrRY At HAxt 17.7 @
R7.9.2 |KyL2Y™ AR Aaxt —% ®
R7.9.2 [RoLv™y % A%t 0.1 —x 216 216 194 ®
R7.9.2 |KoL2Y™ aE AAxt 0.2 ®
R7.9.2 |R&E(H) FriE A%t 05| —® 216 216 194 ®
R7.9.2 |RE(A) &% Aaxt 3.7 5 2,484 1,944 1,620 ®
R7.92 |h¥ At HAxt 5.1 ®
R7.9.2 |[LAZ o334 A%t 11.9 10 2,084 @
R7.92 [LAX &it HAxt 1.9 @
R7.9.2 |Ew5Y(X—3—) FoiE A%t 504
R7.9.2 [Zw>5Y(H) i A%t 23 5 3,240 3,240 2,700
R7.9.2 |Zw3Y(A) HE A%t 5
R7.9.2 [Zw35Y At HAxt 6.7
R7.92 |MEb% JuiEE Aaxt 48 10 2,484 2,160 1,836 ©)
R7.92 |MFEL% At Hxt 49 ®
R7.9.2 |%9 (5@) IS T 24 5 2,376 2,160 1,944
R79.2 |49 (&) I A%t 0.6 4 1,620 1,404 1,188
R7.9.2 |%9 aF T 42
R79.2 [k<bk JbiEE A%t 1.0 4 3,240 2,484 2,160 )
R7.9.2 [k<hk H HAxt 0.4 4 3,024 2,808 2,592 [0}
R79.2 [k<hk At Hxt 1.6 @)
R7.92 |E—<> H HAxt 0.5 0.15 119 119 97 @
R792 [E—<> At Hxt 1.1 ®
R7.9.2 [AhAL&L FIE HAxt 0.1 5 1,836 1,728 1,620
R7.92 |AAL&L At Hxt 0.4
R7.9.2 |IFhi L& JuiEiE Haxt 10.2 10 3,240 1,944 1,728 ®
R792 |[FhirL& &it Aaxt 102 ®
R7.9.2 [Z&LVE fiidGi) Aaxt 0.6 10 5,940 5,940 4,860 ®
R7.9.2 [&&LVg = I A%t 0.1 0.5 281
R7.9.2 [S&LNE af Haxt 0.8 ®
R7.9.2 [¥FEEWLE FE AAxt 0.1 4 2,700 2,700 2,052
R7.9.2 |[¥FEELE CH AAxt 0.1
R7.9.2 |tzFh&F dbiEE AAxt 6.1 20 3,024 2,484 1,944 ®
R7.9.2 |f=Fh&F AaF HExE 6.4 ®
R7.9.2 |&£LULV=IT FRiE AAxt 0.3 0.1 194 119 76
R7.9.2 [£LUWLMzIT aF Xt 0.4
R7.9.2 |ZDZEFET RE AAxt 0.6 0.2 97 65
R79.2 [ZDEFIT AaF Xt 0.6
R7.92 [S%&L&HL RE AAxt 0.3 0.1 76 76 43
R7.9.2 |A7%LHL FRiE HAxt 1.1 0.1 81 76
R7.92 [S%&L&HL At AAxt 1.5
R7.9.2 (&t Xt 117.9
R7.9.2 |#a&t AAxt 117.9 iR RE
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xF E B B KR % M K #®m & F

SFITHEIA 2 H
F£HH % FTEEN |FEWMSIOAE|HEK)|EH ke)| &EM) | HEME) | RIEWA) 5% No.
R192 |amAGBRERM |=2 By 10 @
R192 |AmAGBRERM) |=iE By 10 @
R7.9.2 |#HA &F iAd) - @
R192 |VAC(HLoh3) |& By 10 @
R192 |VAZ(Hoon%) |k By 10 @
R7192 (YA (Hroh3) |EH By 10 @
R7.92 (YA &F 35y - @
R7.92 L (%K) % By 10 ®
R7.9.2 [#L(ZK) T By 10 ®
R7.9.2 [#AL(Z5K) % By 10 ®
R7.9.2 kL &8 iAd) - ®
R792 |5E5(Eig) X By 5 @
R792 |XE3(EA—*) i By 5 @
R792 [s&3Cv1vwzhvm [ILEL By 5 @
R7.9.2 |5&5 &8 By - @
R7.9.2 |KY R 0] 1
R7.9.2 |<Y = w3y -
R7.9.2 [LyBLL el w3y 0.35
R7.9.2 [LyBLL = 0 -
R7.9.2 |AR(F7—ILR) el w3y 8
R7.9.2 |[*@> a5 ) -
R7.9.2 |& ) =
R7.9.2 |#ast By = Mk RE
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F E & B KR % M & #® F EH

BFTHEIH2A
£AA % FTEEH |FENMEIOAZ 20 |28 ke)| SEW) F{E (M) RIE(H) &% No.
R7.9.2 |#MAGBREEM) [=E Hxt 10 )
R7.9.2 |#MA BRERM) [k Hxt 10 )
R7.9.2 |#HhA a5 Hxt = @®
R1.92 |[YAZT(Hr2oh3) |[(&#H Hxt 0.7 10 6,264 3,240 @
R71.92 |[YAT(Hr2oh3) [WLFz Haxt 0.3 10 4,860 @
R7.9.2 |YAZ (H2D2hB) ot 4 Hxt 0.4 10 4,860 2,700 )
R7.92 (VAT A&t At 1.3 @
R7.9.2 |#L (sK) s 4 Hxt 0.6 10 5,400 3,240 ®
R7.9.2 |#&L (25K) R Haxt 038 10 5,184 5,184 4,968 ©)
R7.9.2 |%&L (Z5K) RE Hxt 0.7 10 5,400 5,400 4,860 ®
R7.9.2 |%&L =1 At 26 ®
R792 |RES(EIE) RE Haxt 5 @
R7.9.2 |RES(EA—R) T waxt 0.3 5 6,804 6,804 6,156 @
R7.9.2 |RES3(vAoeRAYR) [ILFL Hxt 1.7 5 10,800 6,480 3,780 @
R7.92 [R&ES =1 Aaxt 24 @
R792 |KY R LS 1
R7.9.2 |<Y =1 At =
R7.9.2 [LvbLL FE Hxt 03] 035 356 356 324
R7.9.2 [LWBLL &it At 0.3
R792 [*Ou(7—1LR) B8 rE Haxt 0.2 8 8,640 7,020 5,400
R7.9.2 |»ov A% At 0.8
R7.9.2 &t Lizbl 1.4
R7.9.2 |#&t Hxt 7.4 min:RE
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